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y - SoccerCommand BasicPlayer::mark( ObjectT o, double dDist, MarkT mark )

v-{

v - VecPosition posMark = getMarkingPosition( o, dDist, mark );

f - VecPosition posAgent = WM->getAgentGlobalPosition();

o - VecPosition posBall = WM->getGlobalPosition( OBJECT_BALL );

¢ - /| AngDeg angBody = WM->getAgentGlobalBodyAngle();

v - if( 0 == OBJECT_BALL )

A=A

q - if( posMark.getDistanceTo( posAgent ) < 1)

y- - return turnBodyToObject( OBJECT_BALL );

\\ - else

vy - return moveToPos( posMark, 1.y, v.y, false );
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V¥ - if( posAgent.getDistanceTo( posMark ) < v.1 )

vo-q

v# - AngDeg angOpp = (WM->getGlobalPosition( 0 ) - posAgent).getDirection();

v - AngDeg angBall = (posBall - posAgent).getDirection();

vA - if( isAngInInterval( angBall, angOpp,

v4 - VecPosition::normalizeAngle( angOpp + YAy ) ) )

Y. -angOpp += Ay;

vy - angOpp -= Ay;

vy - angOpp = VecPosition::normalizeAngle( angOpp );

vf - Log.log( a1y, "mark: turn body to ang %f", angOpp );

v - return turnBodyToPoint( posAgent + VecPosition( 1.y, angOpp, POLAR ) );

vs -}

vy - Log.log( a1y, "move to marking position" );

YA - return moveToPos( posMark, va, v.y, false );

va-}
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V¥ - if( posAgent.getDistanceTo( posMark ) < v.\y )

vo -9

v¢ - AngDeg angOpp = (WM->getGlobalPosition( o0 ) - posAgent).getDirection();

vv - AngDeg angBall = (posBall - posAgent).getDirection();

vA - if( isAngInInterval( angBall, angOpp,

va - VecPosition::normalizeAngle( angOpp + YAy ) ) )

y- -angOpp += Ay;

vy - angOpp -= Ay;

vy - angOpp = VecPosition::normalizeAngle( angOpp );

vf - Log.log( avv, "mark: turn body to ang %f", angOpp );

vs - return turnBodyToPoint( posAgent + VecPosition( 1.y, angOpp, POLAR ) );

ve -}
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/*! This method normalizes an angle. This means that the resulting
angle lies between -\A- and \A.- degrees.
\param angle the angle which must be normalized
\return the result of normalizing the given angle */
AngDeg VecPosition::normalizeAngle( AngDeg angle )
{
while( angle > A« ) angle -= Y#...;
while( angle < =-\A... ) angle += Y#...;

return ( angle );
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/*! This method determines the magnitude (length) of the vector
corresponding with the current VecPosition using the formula of

Pythagoras.

\return the length of the vector corresponding with the current
VecPosition */

double VecPosition::getMagnitude( ) const

{

return ( sqgrt( m x * mx +my * m y ) ) ;
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v - SoccerCommand BasicPlayer::moveToPos( VecPosition posTo, AngDeg angWhenToTurn,

double dDistBack, bool bMoveBack, int iCycles )




v - // previously we only turned relative to position in next cycle, now take

f - // angle relative to position when you're totally rolled out...

o - // VecPosition posPred = WM->predictAgentPos( \, - );

¢ - VecPosition posAgent = WM->getAgentGlobalPosition();

v - VecPosition posPred = WM->predictFinalAgentPos();

A-AngDeg  angBody = WM->getAgentGlobalBodyAngle();

4 - AngDeg angTo = ( posTo - posPred ).getDirection();

angTo = VecPosition::normalizeAngle( angTo - angBody );

v\ - AngDeg angBackTo = VecPosition::normalizeAngle( angTo + 1A- );

vy - double dDist = posAgent.getDistanceTo( posTo );

vv - Log.log( &-a, "moveToPos (%f,%f): body %f to %f diff %f now %f when %f",

posTo.getX(), posTo.getY(), angBody,

( posTo - posPred ).getDirection(), angTo,
( posTo - WM->predictAgentPos( v, - )).getDirection(),

angWhenToTurn );

V¥ - if( bMoveBack )

vo -{

v¢ - if( fabs( angBackTo ) < angWhenToTurn )




vv - return dashToPoint( posTo, iCycles );

A - else

va - return turnBackToPoint( posTo );

Y.e-3}

v\ - else if( fabs( angTo ) < angWhenToTurn ||

(fabs( angBackTo ) < angWhenToTurn && dDist < dDistBack ) )

vy - return dashToPoint( posTo, iCycles );

¥ - return directTowards( posTo, angWhenToTurn );

vs - //return turnBodyToPoint( posTo );

ve -}
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